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FACULTY OF SCIENCE
B.Sc., II-Semester (Backlog) Examinations, December-2020
MATHEMATICS-2
_ (Differential Equa‘ions)
Time: 2 Hours Max. Marks: 80
Note: Answer any Four of the following questions. 4x20=80M

708 8 8o 8S° I renth (PE e BEEErTe (S dndy.

L.  Solve J"(xj_v3+.r3y3 +xy 1) e --Ir-,r(x't}" =y £ 1 ) =)
(Y + Xy F v+ |)d.’f+.\'(.1'1_}*1 X%y .tj'--+-l)d1' 0 @ PHodEW,

dy

2. Solve sec’ Y+ Ay tan y = ol

sec” v j—i— +2xtan y= v D BoHSw.

3. Helve (DE —4D+4)y = 8(.\'2 Gt g 2'1_) |
(07 - 4D+4)y=8(x" +¢™ +5in2x) & FRoDHIL

Solve ( Dt 2D+ l)_ y=xe Ssmy.
o {B” —-fﬁ-rl)y-:xe‘ sinx K0 FeHOEHE.

3

5. Solve —-———--35{- + 2y = sine by method of variations of parameters.
e
d y
2

Nyehe) DSeOTO 5%3;6 E+3z+2y —sine | B FHoHHw.

aﬁgaﬁ (D*+21+5) y:lZe - 34sin 2y & FLODB.
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Code: 160/ET

FACULTY OF SCIENCE
B.Sc., II-Semester (Regular-BL) Examinations, May -2018
Mathematics-2

Differential Equations
Time : 3 Hours Max. Marks: 80

Note : Answer any FIVE question in Section-A and all questions in Section-B.

Section-A (Short Answers Questions) 5x4=20M

1. Solve: (sinxcosy + e**)dx + (cosxsiny + tany) dy = 0

2. Solve: x*p%+ xyp — 6y? =0
Solve: (D% + 2D + 1)y = 2x + x*
4. Solve: (‘;—i — y)z (% + y)z = {
5. Solve: x’y —xy + y = 0. Given y; = x as a solution.
6. Solve: (1+x)2%%+ 1+ +y=2sinflog(1 +x)]
7. By eliminating the arbitrary functions, obtain the partial differential equation from

z=f(x+ct)+ glx—ct)

8. Solve: /p+ Jqg=1

Section-B (Essay Answers Questions) 4x15=60M
- _ a?(xdy —ydx)
9. a) By changing the variables into polar coordinates solve the equation xdx + ydy = — 53
OR

G ooy~ © - el
b) Solve: =277 = 52 +xd 2Py

= x* 2 —5x +2
10. a) Solve: (D3 —2D +4)y =X 4 3x

OR

11, a) Solve (D? —3D + 2)y = sine

OR
: dy _ 3y = x*logx
b) Solve:x? %;’% —x 2 -3y
+2)g=xtY
12.a) Solve: (v + 2p+ (x+ 72 = 7
| od.

b) solve(p? +q)y = 4 by Charpits meth

' WCXR
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Code: 205/ET/0
B.Sc., II-Semester (cfl: CBUEI'Y ?F SREENCE i
MATHEMATICS % Why/ August-2021
3% Paper-11
Time: 2 Hours Differential Equations

- p Max. Marks: 80
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Note: Answer any Four of the following questions.

O8: & ol EE° D3 ety (« |
e . o EHOL BSrorres (@Fasni.
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- L Solve \logy = ayps g
L Y ogy=aps pls FBodss

A

e sove & & &
e 4 N R £ £x04] 0 2 4°)
SO i dv =

L
—

1w

al'-(_i': = ) % "J"( 5 +,J:1}= ;'_.!'*(,;': "',l:] = Thosds.

S@]VE (D! =L ED""‘ 5)-‘, £ .Fh Sin v .

e (19 =20+ 5-)_1- =e¢''siny % FHoHED,
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Code: 205/py /0
B. FACULTY OF SCIENCE /8L "
A II-Semester (Old-Backlog) Examinations, July/August-2021

.-f MATHEMATICS
’ Paper-11

Time: 2 Hours Differential Equations

Max, ml 80
4x20=80m

rany Four of the following questions.
TES" DIV et (BYhoth VErGERTD [EPERED.

. sBeh
5@'\‘& Y IU‘E PEap s p’,
¥ log y = vy + P dBohHv.

2. Solve dv dz

==

" ) R e et

dx

S dv d:

J:(y*-;*) "}’(E:-#.r}) 5 ( Fr D Pohdn.

iy ZIX o 20
* 3. Sﬁhfe( “ED+5)_!’=1'!‘ sin v,

(D7 ~2D+5) v = e sin x & BoDH%,

: '_-. . Py
j' s “% Sol\fe "tE— 2-‘£-+ I'=Xxcosx.
ﬂr F D dp
de’ gy TV T reosx B FGohsm,

SOI & #5) 2 v
Ve (D*+4D+4)y =4, + 6 by method of undetermined coefficients.

©Jge
08 use 3580 as@rAcd (D’ +4D+4)y =4 +6¢' % PBodsn

-

Tld.p-— (f;
dxa IZT--JIJ-r log x .

. i'.":h.i , &&Oﬁ)m-

- I
-

imination constants 4 and & from

- 1:1:-=l _ .-‘ - ': ]
el !,.':ﬁ ...'ir*.!-'-‘ = T .
S -}‘ *‘L g,-

el ::_:-_;" u..'_
o . :
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Time: 2 Hours

Code: 872/ET/R

FACULTY OF SCIENCE

B.Sc., II-Semester (Regular) Examinations December-2020
Mathematics

Differentiai Equations
Max. Marks: 80

Note: Answer any Four of the following questions. 4x20=80M
RHNE: & (Bod TAS° I TrenlDd (HHeH SSFGETPe) [Fed5HE.

14

If the differential equation Mdx + Ndy =0 is homogeneous and Mx + Ny # 0, then

prove that miﬂy is an integration factor of Mdx + Ndy = 0. A S+ S
1

Mdx + Ndy = 0 ed8e% $858m0 $8r5rddho 50050 Mx + Ny # 0 eond T B0
Mdx + Ndy = 0 & H5rE0s Hgo o SrHod. ;

Define linear differential equations. Solve (y? + yz) dx + (z% + zx)dy + (y* — xy)dz = 0.
NEIPE 938e0S dNEBesnD QkDool HOAsw €4y +ety

(y2 + yz) dx + (22 + zx)dy + (y% — xy)dz = 0 & F§oSod.
\ C

£xplain equation sr}:ilvable forpandsolve (p+y+x) (xp+y + x)(p + 2x) = 0.
pn —E%0 FES5H DSB0Sod Ko (p +y +x) (xp + ¥ + x)(p + 2x) = 0 B FHoSOC.
0SS

If 100 mg of radium is reduced to 0 mg radium in 200 years, determine how much

radium will remain at the end of 1000 years. Also find the half-life of raciium;
200 Bosdyres® 100 (e & 90 &.(r Tédhos $RoDSeond, 1000 mn;’:égﬂﬂ: o
i

05665 dod BRAHo Goenos” VgowoSob. BaaHo @oE) Bifo ddaErR) Erme STk,

« - -
0 o s i

2 = cos x + xe?* + e* sinx.
?32’-?- 1(;; :clt:?:rx + xe?* + e* sinx & FHosob.
g_rl‘fﬁ’_ﬁ‘mg'l ) i
Solve (D? + 2D + 5)y = 12e* — 34 siri 2x by method of undetermnjed coefficients. &--— p ¢
&) 1Peasre DR O (D% + 2D + 5)y = 12¢* — 34 sin 2x 2 JHoBok. c
Qﬁt'.bé (@Sﬂsﬂ 2 Bhieg B

7 rd
‘ | | Lt gy = a, #0 where
Solve the linear differential equation a; —=+ @1 ~+ aoy Q(x),a;

are constants and Q(x) Is a continuous function of x and is nonzero. 1p + [
s s = ) &3 wSses B8R FeoSol. S o, a1, 0z O
a; E'Jzi'!" aq E’;'l' g Y Q(x),a; #

%Jtrfs‘*w <8050 Q(x) @36 x & ErIgBE O SHaoaso.
Q

Solve x2D?y—xDy—3y =X
x2D%y —xDy — 3y = x2logx & JFHoBok.

%
>

2logx. A& %

ORLC

e —— T
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FACULTY UF SulENVE

B.Sc. lI-Semester (CBLYS) Examination, June 2018

Subject: Mathematics

Paper - Il
Differential Equations
4 Max.Marks: 80

Time: 3 Hours
PART - A (5x4 = 20 Marks)

[Short Answer Type]
Note: Answer any FIVE of the following questions.

1 Solve: x dx +ydy= xdx-ydy.
' X% +y? @
2 i - dx dy dz S,
OIve — —— e iy %u ‘%
x2 . y2 - 22 2% 2z { "z. "j:

3 Find the particular integral of (D3 +3D% + 2D]Y "f

4 Solve: (D4 - 1) Yy = sin X

5 Find A, B, Cand Dify = sz + | Dxe”™ is particular integral integral of

(02 = 3D +2) y =2x* + 3¢*b hod of undetermined coefficients.
6 Solve: (y+z)p + (x+2)q = x

7 Solve: p(1+q) =

Y
2 :
/ Solve: (2X+3) d_Y@( + 3)%_ 12y = 6X.

o

0 PART - B (4x15 = 60 Marks)
O [Essay Answer Type]

Note: Answer ALL the questions.

9 a) Solve: p2 + 2py cot x = y2/ - -*;é
i T o N ol TN ﬂ:(
© A1 i f/

10 a) Soive: (D241)y x2 sin 2X.

/M Solve: (D -2D+1)y=xe smx:/
/F Explaln method of variation oj parameters of solving a2y +aiy +a,y =Q(X).

0).
(a2 0) i .
/ b) Solve (D* + 4D + 4)y = 3X e'?x by method of undetermined coefficients.
1
/ a) Solve: o - 2-@-4* u,u(x,0) =6e o by variable separable method.
ox ot ~
" D
: D
b) Solve (x -yz)p + (Y .g)q =z -Xy.
T * o 2 ,
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FACULTY OF SCIENCE ode No. 7035/ E

B. 3
Sc. lI-Semester (CBCS) Examination, May / June 2018
Subject: Mathematics

; Paper - I
Differential Equations

hatloja.

Time: 3 Hours

Max. .
PART = A (5x4 =20 MarkS) ax.Marks: 80

[Short Answer Type]
Note: Answer any FIVE of the following questions.

N . x’
wo'm' (1+€™")dx + e’Y( 1-x/y)dy = 0.

b QJ
2 Solve: Ell“:-=.(ll_y_=____dZ % ’ FRL
' QP @pes

ﬂ Solve: y"- 3y’'+ 2y = 0 with y =0and y'=0 when x=0@ ? '
_’ ‘-‘Lﬂl ‘- -

Find the particular integral of (D3 - 02 - 6D) xzﬁ :

2 X4
9 Solve: (2x + 3):2 9__;’__2(2,(.,.3)91 - 1 W r_3
dx X A o

2 Y.
Solve: ng—%—+xﬂ-4y= xz r)_’l"r'}
dx dx i R n Eie

- Z
7 Solve: 82_{_82__'#2’ i 7 P,_{Q/ [4 h-rf‘"j/w
. 3 e :
g@ agratz®

oX oy a
@ Form a partial differ equation by eliminatirig constants h-and k from\:'
2 &2 “

o TS
(x-h)” + (y N9 €2, e e
PART - B (4x15 = 60 Marks) o :
 [Essay Answer Type] Y 44
Note: Answer ALL the questions. f.{-l T
9 a) Solve:y + px = x4p2 # a4 L
10 r 5 5 20R Acl ':d:j i

b) Solve: (y + yz)dx + (z +zx)dy + (y -xy)dz=0 & 4%
- 3

10 a) Solve: (D°—4D— 12)y = (x-1)e”" :
OR |
; d-qrogz+ ¢
( b) Solve: (D? - 2D + 5)y = e sin x. Leqrogzt (o
\ A e

"ﬂ-—awgg: *-__:C;_z

(6( 1Y , A-QAWG2 ) -9

L]
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GIDC(S) - NGt Dl -4 Mathommopey
Sem-2, Malleomahy predi s G,

F . W WF‘—WWW % 25wl .2 2

el o ZE B g 8
. ik’

) f) 3 - S
golve (i) (Dq:— U Loa =<S( % 6'1:1.1—51\41’1) !Q’) (p --*'I)‘a S1vA

M.A’WAV\L_EQ @‘q IHL‘:E""'"—'I 'L‘Lﬂ_z[bd,

= ) @4 2L0Y5) 'a-: Y281 Bpsm2A

’ = crvioXsom S
@ tolve Ata below 2amel¥TE by U Y

[y (D204 m(@X) @) (v=30)y= @)

@ 5olve_ (‘;) fi"f'pga + 3’1""61’3 -]-'Xo*a +‘a=: X+ 1‘3"3”‘
.. n & ﬂ-'i
" gL i = v

Pl
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